1240 L P NEIL
N AESR
Doy — T =ANT =
iz eI [ ] a— R4 )
A FIvra—x&
5% wmmE B [FA] 2B — b 1392m
T 4=y o R 1134m
ks e d=bry =M =5 (FERS] o 258m
a— 2ty H— L (FERS]
AIEH - A - B HEE EiE3:=0
AiE#H - B - K BA EiE3:=
AiE#H - C - B2 BRE (FERS]
AiE#H - D - = ARAE EiE3:=
AiE#H - F - Hi%  Hm (FERS]
AiEH - F - HE R EiE3:=0
HEF 2K 38(36) A A — KRR 10:04
KA ES EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
DID NOT START 0
DID NOT FINISH 1
27 09000900 )] BE— R HEAR =V )57°
DISQUALIFIED 0
NOT PERMITTED TO START 0
S (TR AVE SNE -1 SO i [ ]
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO

TIMING by SE T KO



1140 P RPNEIL 7

N AESR
Doy — T =ANT =
iz eI [ ] a— R4 )
A FIvra—x&
5% wmmE B [FA] 2B — b 1392m
T 4=y o R 1134m
ks e d=bry =M =5 (FERS] o 258m
a— 2ty H— aH #E (FERS]
AIEH - A - 2B Kl EiE3:=0
AiE#H - B - K BA EiE3:=
AiE#H - C - 2Y B (FERS]
AiE#H - D - = ARAE EiE3:=
AiE#H - F - Hi%  Hm (FERS]
AiEH - F - HE SR EiE3:=0
HEF 2K 38(36) A A — KRR 10:04
KA ES EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
1 29 09000924 VHIR & R K HH R AR T AF B 1:16.70 0.00
2 28 09000746 P4 #H R e = I g 2NV 1:18.25 20.41
3 30 09000824  jEFR sE = WA T HATM /SC 1:21.30  60.57
4 31 09000726 EH B#i W F9/27SC 1:32.19 203.98
5 34 09002195 & & 55 7 SC 1:40.43 312.48
6 3309001013 JI| | % W e =7 1:42.02 333.42
DID NOT START 0
DID NOT FINISH 1
32 09003081 K I ¥ K F=h FyVa
DISQUALIFTED 0
NOT PERMITTED TO START 0
S (TR AVE SNE -1 SO i [ ]
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO TIMING by SE T KO



10#H P RPNEIL 7

N AESR
Doy — T =ANT =
iz FEL [ ] a— R4 )
AT Iy a—R&
5% wmmE B [FA] 2B — b 1392m
T 4=y o R 1134m
ks =y =M =5 Kiz3550 o 258m
a—2kE .y H— aH #E Kiz35E0
IR - A - S R EiE3:=0
ISR - B - K BA EiE3:=
ISR - C — 2Y B (FERS]
ISR - D - =i A EiE3:=
ISR - E - Hi%  Hm (FERS]
ISR - F - HE SR EiE3:=0
HEF 2K 38(36) 2K — MR 10:04
KAz E- EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
1 39 09000885 HN Eih R FIESC 1:13.62 0.00
2 37 09000769 & A W =HF 4EA 1:18.86  71.89
3 40 09003566 N i R B HESC 1:19.49 80.53
4 3509004744 LA fh R Ziel Tokyo 1:20.90 99.88
5 36 09000833 {JtiE Jik— W TR B T A8 B 1:21.27 104.95
6 44 09003305 FEH HA R HrESC 1:24.49 149.13
7 42 09000790 Ly 5L W BRI T AT B R 1:28.80 208.26
DID NOT START 0
DID NOT FINISH 3
38 09000841 {FiE 123E BT NTT B RO A%
41 09001052 HH FE— W T X A% -1 B
43 09000718 B 2= — W WA
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO TIMING by SE T KO



101

NEQL Ap=} =b B F FZLOE?Z
No No K4 B 4 BB 4 RA v b
DISQUALIFIED 0
NOT PERMITTED TO START 0
BfrfRsk  BEr [575 ]
2023:01:21 / BAFI v 7 a—2R 0120 GM8 /2

DATA PROCESSING by SE I KO TIMING by SE T KO



9%H. L RNl
N AESR
Jal)— FUO=ZHNT— A
iz eI [ 5 ] a— R4
HAFIvya—2R
5% wmmE B [FA] 2B — b 1392m
T4 =y v a i 1134m
ks e d=bry =M =5 (FERS] o 258m
a—2Ak vy X — L (FERS]
AIEH - A - 28 [ (FERS]
AiE#H - B - K BA EiE3:=
AiE#H - C - B2 BRE (FERS]
AiE#H - D - = ARAE EiE3:=
AiE#H - F - Hi%  Hm (FERS]
AiEH - F - HE SR EiE3:=0
HEF 2K 38(36) A A — KRR 10:04
KAz E EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
1 51 09002361 7k F # g TR AF-FHE 1:06.45 0.00
2 47 09001720 =& #H— TR AR ERTSC 1:10.18 56.69
3 45 09000851 {FtjE 1T R MAX IMUMAF—F—A 1:10.36 59.43
4 68 09001371 k& *E g Wi Sc 1:10.84 66.73
5 49 09002771 JIAF @l FZS) YN =N ==y hT 577 1:10.96 68.55
6 46 09001756 fA4 BriE KB P2 1:12.33 89.37
7 48 09003708 ZfF BT HEA SERAE-t 1:13.43 106.09
8 5309002910 #xH % W It X a%—E 1:13.70 110.20
9 50 09003335 FK¥E HUL PN OSAKA ONE PURPOSE 1:13.74 110.80
10 52 09000709 IRIFF —ER K 7—=MAK =YSC 1:15.30 134.51
11 56 09004557 HiJE B2 BT T X Ar- 1:15.46 136.95
12 54 09002727 K& EhE W FHESC 1:17.09 161.72
13 67 09004533 KB B FiA KHJFSC 1:18.82 188.02
14 65 09002417 TVEH EF] TR B HERLERTSC 1:19.48 198.05
15 55 09000892 JI| E t— K V=77 M= 1:20.24  209.60
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO

TIMING by SE T KO



9

NEL

16
17
18
19
20
21
22
23
24

2023:01:21 / XA F I v 7 a—2RA

AR=p
No

58
64
63
59
69
60
61
57
62

1=}
No

09002190
09005322
09001061
09003058
09002666
09003316
09002689
09002244
09000867

DID NOT START

DID NOT FINISH

66

09001021

DISQUALIFIED

B H
K4

FLH Bl
HH S
A2
HER - HA
wE wc
=W Rk
H b st
HRr Rk
AR 1T

Sl TR

NOT PERMITTED TO START

B &

[

HA
BE
HAL
HAL
HAT
AL

ol

AL
R

HAL

e

F=1010
1S L—X
B 4 RA Vb
AR 1:21.76  232.70
AT WASC 1:22.12 238.17
UNOA¥—)77" 1:23.84 264.32
K74 MK /SC 1:24.92 280.73
AN A 1:25.38 287.72
7 SC 1:25.51 289.70
FHESC 1:27.37 317.97
RIS B SUER B & 1:27.91 326.18
K AF—1HE R 1:29.48 350.04
A78—=hSC
[ ]
0120 GM8 /

2

DATA PROCESSING by SE I KO

TIMING by SE T KO



SHH. BA KlEllE
N AESR
Doy — T =ANT =
iz FEL [ ] a— R4 )
A FIvra—x&
5% wmmE B [FA] 2B — b 1392m
T 4=y o R 1134m
ks =y =M =5 (FERS] o 258m
a—2kE .y H— aH #E (FERS]
AIEH - A - S R EiE3:=0
AiE#H - B - K BA EiE3:=
AiE#H - C - 2Y B (FERS]
AiE#H - D - = ARAE EiE3:=
AiE#H - F - Hi%  Hm (FERS]
AiEH - F - HE SR EiE3:=0
HEF 2K 38(36) A A — KRR 10:04
KA ES EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
1 80 09000387 #kIL 4T KR H AN SR 5 2% -0 1:11.27 0.00
2 79 09003064 FHIR 2 B HRT 1:11.29 0.28
3 71 09000749 HEE A BT 7 SC 1:12.76 21.12
4 78 09000702 FF{ [EHz T3 NICE 1:14.42 44.64
5 73 09003569 EH fasE R A7a=t" 9} SC 1:15.49 59.80
6 70 09001019 A Fh W AFn—hsc 1:15.90 65.61
7 72 09002597  FAER %#h = R R BT A 1:19.46 116.06
8 75 09002230 ik VE— T3 FHET WA /SC 1:20.45 130.09
9 74 09002515 EHL VE W HRH BT AR 1:22.14 154.04
10 77 09005431 BMH K T 22 T A% 1:30.50 272.52
DID NOT START 0
DID NOT FINISH 1
76 09004601 FEEE H— BT =Wty
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO

TIMING by SE T KO



8

F=1010
BN A=b a-b BEEE B A =2
No No K4 B %4 B B 4 INE SN
DISQUALIFIED 0
NOT PERMITTED TO START 0
S (TR AVE SNE -1 SO i [ ]
2023:01:21 / FAF I v a—RA 0120 GM8 /2

DATA PROCESSING by SE I KO TIMING by SE T KO



THE BA KlEllE

N AESR
a2l — FUO=ZHNT— A
iz FEL [ 5 ] a— R4
HAFIvya—2R
5% wmmE B [FA] A K — b 1392m
T 4=y v i 1134m
ks =y =M =5 (FERS] o 258m
a—2Ak vy X — aH #E (FERS]
IR - A - 28 KR (FERS]
ISR - B - K BA EiE3:=
ISR - C — B2 BRE (FERS]
ISR - D - =i A EiE3:=
ISR - E - Hi%  Hm (FERS]
ISR - F - HE SR EiE3:=0
HEF 2K 38(36) 2K — MR 10:04
KAz E- EH N— R
A=K7 4=y v a iR -7°C / -3°C
F=1010
JIEAE Ap—h -p mEE Bg M r—=
No No K4 B 4 W B 4 RA B
1 81 09004923  [LIIRF HHER Bl S RARS N V7 1:04.41 0.00
2 85 09000980 (TEH E¥ W N E2SC 1:06.46 32.15
3 87 09002549 Ak PE TR 77-V/SC 1:07.16 43.12
4103 09001100 FHiF Bk I ~f‘eﬂ§fr‘él=éﬁﬁ)asc 1:08.14 58.49
5 89 09003470 AL HHS R ATa—t" v AX-1777 1:08.61 65.86
6 94 09003022 FER B W T X Ar-t 1:10.67 98.16
7 91 09003326 EIRF vk W A7a=t" 9} SC 1:10.84 100.83
8 86 09001189 fAi® E& g JRIE H AR B3 4:SC 1:10.98 103.02
9 82 09004413 &)l HEZE M) =N AF-) 7T 1:11.16 105.85
10 93 09004299 fRiF AE BE b EL BT A% B 1:12.02 119.33
11 84 09000776 7)1 %t B VA VIRV 1:12.11 120.74
12 90 09002683 AN 1 RS EAiNG 1:12.41 125.45
13 95 09001018 /A% 7ol K A7u=hSC 1:12.85 132.35
14 102 09001800 [AA & BT W8 =747 Vv=ys ) 1:13.23 138.30
15 113 09005480 HiMHE B W B HAR =IAF-177" 1:13.84 147.87
2023:01:21 / FAF I v a—RA 0120 GM8 /1

DATA PROCESSING by SE I KO TIMING by SE T KO



7l

NEL

16
17
18
19
20
21
21
23
24
25
26
27
28
29

AF=h =)
No No

83 09000085
100 09000545
96 09000770
105 09003625
98 09000299
112 09001015
106 09002516
104 09004912
99 09002500
109 09001016
107 09004365
108 09002254
110 09002172
111 09005359

DID NOT START
88 09000783

DID NOT FINISH
92 09000874
97 09004426

101 09000710

DISQUALIFIED

B H
K4

ZH feZ
ER) FEE
A 72
AN
INE F—
Bl b
M

KR 15—

BTER %]

LI
URE=ES
£ il

NOT PERMITTED TO START

B &

2023:01:21 / XA F I v 7 a—2RA

HAL

1o
AL
W

e

F=1010

1S L—X
FroE 4 RA Vb
R-12%¥-77" 1:14.44 157.28
H 2 A —E B 1:14.94 165.12
FHFHEAR =IAF—57 1:15.95 180.96
FFHEAR =IAF—57 1:18.03 213.57
IR SR A2 1:18.91 227.37
= JEE T AR 1:20.17 247.13
WG T AT 1:20.17 247.13
N W=7 SC 1:20.96 259.52
7—ME -YSC 1:21.08 261.40
ZET AR 1:21.19 263.12
B2 AF—F - 1:21.54 268.61
R T IR 2 A% 1:24.86 320.67
2 A Y VAN 1:26.30 343.25
2 A Y VAN 1:26.79 350.94
VAR MINVRVEIVYA
FIESC
AR =Y77/v3/SC
7=hAK =YSC

[ ]
0120 GM8 /

2

DATA PROCESSING by SE I KO

TIMING by SE T KO



